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= = S AV 7 S HVE | = = S AV = S AV B2l =
1 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zh st 1.00/ 000 ~ 3.65 46,01 #hilst (000 ~ 365 217 10.95 ZFh st 1.00] 500 ~ 500 46,01 #hilst | 500 ~ 500| 217 10.95
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 5.82 72.82| #hist 1000 ~ 582 1.81 9.16 Zhn st 1.00f 500 ~ 6.61 72.82] #hilst | 500 ~ 6.61] 1.81 9.16
3 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 552 68.87| #hli4 | 000 ~ 0.00| 1.76 8.87 Zhn st 1.00] 500 ~ 6.06 68.87| #h st | 500 ~ 6.06| 1.76 8.87
4 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.0010.00 ~ 5.18 64.56] Zh L4 000 ~ 0.00| 1.76 8.92 Zhn st 1.00] 500 ~ 5.57 64.56] #hist | 500 ~ 557| 1.76 8.92
5 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEEZD -~ - - -
Zhn st 1.0010.00 ~ 443 55.28] #h st [ 000 ~ 443 2.09 10.54 Zhn st 1.00] 500 ~ 5.70 55.28] #hist | 5.00 ~ 570| 2.09 10.54
6 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.001 0.00 ~ 4.16 52.03| Zhiis | 000 ~ 4.16] 2.03 10.28 Zhn st 1.00] 500 ~ 5.02 52.03|] #hi4st | 500 ~ 502| 203 10.28
; 100kN/mM#Z#BZ % -l -~ - -|3mEBRB| - ~ - - -| 100kN/mM%E# %% - -~ - -|3mEBZD -~ - - -
Zhn st 1.001 0.00 ~ 476 59.31| Zh L4 | 000 ~ 0.00| 1.77 8.94 Zhn st 1.00f 5.00 ~ 5.00 59.31| #hist | 5.00 ~ 500| 1.77 8.94
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnst ~ Fh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh st ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#Z#BZ % ~ ImEHEAD ~
Zhnist ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zhn st ~ Zh s ~
100kN/mM#Z#BZ % ~ ImEHEAD ~ 100kN/mM#E#BZ % ~ ImEHEZD ~
st ~ Zh st ~ ZhLst ~ Zh st ~
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